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1. (10%) Solve x3é——3)i FONC I 2y =0
dx dx
2.(15%) Solve  (2xy"¢" + 2xy" +y) dix + ('’ 132 -3x) dy =0
3. (15%) Find the inverse Laplace transform of F (s) :’3‘(1\1)
s7(s” +

2 0 1 3 -2
-2 1 3 2 -1

4. (15%) Find a determinant of matrix A, A= | 1 0 -1 2 3
3 -1 2 4 -3
11 3 2 0
-2 2 3
5. (15%) Find the eigenvalues of matrix A, A= | 2 1| ~6
-1 -2 0

6. (15%) Write v=(1,-2,6) as a linear combination of u=(1,1,1),
u=(3,2,1), u3=(2,-1,0)

7. (15%) Find the qu =(1,1.5,-1,0.5) onto
v=(-1,0.75,0.5, -0.25).




